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Note: though it seems more likely that axo0 would be more “potent” for wnpn m170 5Y 1w phin than those APIINA NIV 59 1Y,
there is reason to suggest the opposite, as many more people engaged in eating 701107 11770 59 yw¥Iw poimn.

I Further discussion about status of nmInn/WIpn NINY HY WYY PoIN and the various levels of nkmv attached
a  (x»’70w3) poe /7 if someone eat a 'wHw of WTIPN NN YY WYY 5N, his body becomes a nkmMVY 1NV
i Challenge: "»9v is only meaningful for nman ninv Y 1WwyIv P5IN, not WNpn NI Yy (see note)
ii  Answer: it’s all the more obvious — if it affects nn1IN NNV YY WPV POIN, V7P it will affect wTIpn NIV ...
1 Block: n"a11 reported that 3nv "7 limited ywin’ *1’s ruling to nman nnv
2 Answer: there are two versions ("oR '3 vs. Nn"217) of ;N '7’s position
b w5 if someone eats a 'w%w of NNYINN NIV HY WPV PHIN, his body is “impure” and he may not eat nmn
i Challenge: that is yv11v *7's ruling — 5w H21Rn is a WMPY 1Y, not for nmn > but he is a "wHY
ii  Defense: we might have inferred from there that he is allowed to eat "mn; 2w was mentioned in appos. to w™p
iii ~ Challenge (X227 77): a PWRT is RDOM RNV (even) POIN, a NV is YOI but not XNV, a "WYY may be mixed in with nnIN
1 Explication: if a "0’%w is %108, how do we allow him to eat it and make himself banned from eating nnn?
2 Answer (859): in ynTn TN (mixture), there isn’t 9”R 7191 W13 - may eat NN
¢  217.if someone eats a *»9w of NN itself, he may not eat nm N but may touch it
i Justification (of both 851y and »17): if we only had 89, we would think it only applies to nmn NN %Y WPV PN
1 But: nmnn itself may not even be touched
2 And: if we only had 217, we might think that >1n may even be eaten — 5"np that they are fully equated
d  amm 93 580w 12 pry 71 (to 179): if one eats a 'WHw of WTIPN NNV HY WYY PYIN, he may eat wp itself
i Reason: the only 'w’5w that generates nkmv (=>»17) for w1 is of “real” 127p, not P5N
ii ~ Challenge (n”17): eating a *»%w of NN NINY HY WPV PYIN generates Y109
1 Defense: nnin is unique; that which is mnv for nn1In is invalid for wnp
2 Proof: 1:1 "y — generates hierarchy of 0171 NRMY wherein NN '8 *11 are considered V77 for WP YN
(a) Block (x27): 071 is a greater concern; lest his wife sits on it while a 071, we don’t apply concern to m19
(i) And:xpIn 92 5R0Y 92 pny 1 does extend concern and equate circumstances
3 block (’nor1m 707 77): we do not claim that that which is NP IN% NV is Y1IPY RNV
(@) Proof: 1:1 mn — (we give credibility to an 0y for w1p, not for nkM, but) if he says that he took 1> ny»an
out for wnp (0*201) — it may be bought from him (i.e. his n1nri extends to nn1IN)
(i) And:if nnnd 0o is OTPY RNV, why doesn’t the NN “infect” the wnp?
(if) Answer: that's p12na nkMY, we employ wn; since he’s believed about wmp, believed about nmn
iii ~ Challenge (yr12 72 8217 77): a P92 1w is ®nvn liquids which are PN and is NN R Yo
1 And:a»»Hwis Rnon liquids which are wmp and Y018 anyone from eating wmp
(a) Context: this is all ¥Tipn NNV HYY WMV POIN
(b) Answer: the entire issue of wTpn NNV HY WPV PN is subject to dispute:
(i) 2 YN made vMpn NN Yy are like poIN
(if) ¥7ax7 they are like NN — can be XnYn two steps away and Y018 another
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